
■ つぎのわり算をしましょう。

① 8092 ÷ 28 ＝

筆算しよう

④ 4130 ÷ 35 ＝

筆算しよう

⑦ 5014 ÷ 46 ＝

筆算しよう

② 6936 ÷ 24 ＝

筆算しよう

⑤ 5544 ÷ 88 ＝

筆算しよう

⑧ 6556 ÷ 44 ＝

筆算しよう

③ 9646 ÷ 26 ＝

筆算しよう

⑥ 1488 ÷ 31 ＝

筆算しよう

⑨ 6596 ÷ 97 ＝

筆算しよう

わり算の筆算
年 組 名前
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■ つぎのわり算をしましょう。

① 8092 ÷ 28 ＝

2 8 8 0 9 2
5
2
2

2

6
4
2
2
2

8

9
4
5
5

9

2
2
0

289

筆算しよう

④ 4130 ÷ 35 ＝

3 5 4 1 3 0
3

1

5
6
3
2
2

1

3
5
8
8

8

0
0
0

118

筆算しよう

⑦ 5014 ÷ 46 ＝

4 6 5 0 1 4
4

1

6
4

4
4

0

1
0
1
1

9

4
4
0

109

筆算しよう

② 6936 ÷ 24 ＝

2 4 6 9 3 6
4
2
1

2

8
1
9
2
2

8

3
2
1
1

9

6
6
0

289

筆算しよう

⑤ 5544 ÷ 88 ＝

8 8 5 5 4 4
5 2

2
2

6

8
6
6

3

4
4
0

63

筆算しよう

⑧ 6556 ÷ 44 ＝

4 4 6 5 5 6
4
2
1

1

4
1
7
3
3

4

5
6
9
9

9

6
6
0

149

筆算しよう

③ 9646 ÷ 26 ＝

2 6 9 6 4 6
7
1
1

3

8
8
8

7

4
2
2
2

1

6
6
0

371

筆算しよう

⑥ 1488 ÷ 31 ＝

3 1 1 4 8 8
1 2

2
2

4

4
4
4

8

8
8
0

48

筆算しよう

⑨ 6596 ÷ 97 ＝

9 7 6 5 9 6
5 8

7
7

6

2
7
7

8

6
6
0

68

筆算しよう

わり算の筆算
年 組 名前

/ 9


